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A : A 99 T R |

Note : Attempt all questions.

Q=T 59T : (i) UT% U9 HY SEYIHA & |
General Instructions : Graph paper 1s required.

(if) “HoTperR F WA I oA TR 7 |
Use of calculator 1s not permitted.

(iii) W FHH 1§ 97 @us €1 @ug (1) ¥ agfamedg y, wue
() ¥ fiad =l F qfd qn @ve (¥) o oy fog o €
Te® T W 1 375 raifed |
Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write

true/false are given. Each question carries | mark.

(iv) W HIF 2 W 6 T 3Afd TY-3909 T99 § 1| TF W W 2 i
aifed ¥ |
Question Nos. 2 to 6 are very short answer type questions.

Each question carries 2 marks.

S-4A+ (Graph) PTG



(2]
(v) WA @i 7 9 10 T 3fd TY-IWE 99 § 1 7&F ¥ | 3 37F
asifed € |
Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks.
(vi) W FHE 11 Y 14 7% -390 WA § 1 99F ¥ A ariefiw
foshea B | TS W9 W 4 o7 TEfea € |

Question Nos, 11 to 14 are short answer type quéstions. Each
question has an internal choice. Each question carries 4 marks.
(vii) 99 FHi® 15 TH 16 Y-S T4 ¢ | Ta4® 99 § A
foreheq B | Tee W99 W 5 37k Immeifea § | |
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
(viii)9¥ FHIH 17 T 18 Y-S 991 € | o F9 H AR
foeeg B | TS 99 W 6 37 arefead €
Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

ov-1 (@ue-31) ve! fased ga fafau

(Part-A) Choose and write the correct option :

sin45°

(7) cos45° RLEARALE o ' (1]
(37 1 (@) 2
(%) —= @ -
2
The value of 05450 will be :
(@ | b 2
1
(c) NG (d) -1

S-4A+
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(i) i P e T A, AR 1]
(37) a_b_a (%) ﬂiﬁ
a b o a, b,
(m 4-b (D) TR
az bz :
A unique solution of system of equations is obtained, if :
a_b_a p 4.bh
(a) % b = ., (®) 2 < b, |
(é) i LY (d) None of these -
a b _
(i) IR 4x? 44[3x + 3 F TR B UARS M R Y
- :
() 5 (@) V3
3 o V3
(%) 4 (9 Y |
The product of the zeroes of the polynomial 4x? + 4+/3x +3 will be :
1
@ 5 | ®) ?
3 : 3
(©) ri (d) T
(iv) tan(90°-60°) R WA EM: | [1]
(30 0 - (7 1
(M 3 - ® % -
The value of tan(90° — 60°) will be :
(@ 0 (b) 1
' 1
3 —
© 3 @ |
(v) 18 3R 6 1 AT €N - - (1]
(37 2 | (3 3 '
(%) 108 (%) ‘;'
The third proportional of 18 and 6 will be :
(@) 2 (b) 3
: . 1
(c) 108 -
@ 3
S-4A+
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(Evs-a) fga wFl &1 gid SIS

(Part-B) Fill in the blanks :
() T ABx—2y+5=0 = yaoEm —— 1
The slope of line 4+/3x —2 y'-l— 5=0 is :

(i) Tog (0, 5) —— ey w frorg 2

Point (0, 5) lies on axis.

(iif) Toreit afer & Wt YAl § 9T ST TS R e S, ——
FHEAT & | |

The tax which is levied on a person’s income from all sources

is called

(v) Toen g —— WamM IR e |

Educational cess is payable on
(v) ' pdaviE g’ H A FR R TIH fa@i p — ¢

‘p implies ¢’ will be written in the form of mathematical
statement p g.

(TUS-H ) T 319a1 35 faray

(Part-C) Write True or False :

() W g F T e e e
In similar quadrilaterals all corresponding sides are equal.

(if) ST RS B9 R BN - |

The angle in semi-circle is 90°,

[1]

[1]

[1]

(1]

[1]

(1]

[1]
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(iif) 1R/ 10 T I HEmsh w1 A 55 2| [1]

The sum of numbers 1 to 10 will be 55.

(iv) 99 & G 52 S 51 et ¥ [1]

The longest chord of a circle is called radius.

(v) S & a9 I8 21k BT S |

(1]
Curved surface area of cylinder is 27rh.
WeA-2 ARG p(x) = x3 - 5x + 6 ¥, &t p(0) a1 p(1) 1 7 FId Hferg | 2]
If the polynomial is p(x) = x3 — 5x + 6, then find the values of p(0) and p(1).
U9H-3  HE J| SifE | 2]
secf cosecH
cosec(90°—0)  sec(90° —9)
Find the value of :
sect 4 cosech
cosec(90°—6)  sec(90°—6)
-4 S 6, 8, 20, p, 6 3R 10 F WHRR W 20 &, @ p w A T
Hifea | ' 2]
The arithmetic mean of I;he data 6, 8, 20, p, 6 and 10 is 20, then find
the value of p.
-5 fagali P2, 1) a9 Q(5, 7) | M Sl Y@ it yavn 91 Hifag | (2]
Find the slope of the line passing through the two points P(2, 1) and
05, 7). |
S-4A+
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U-6  fg fa a=R A0 1 99H 9T 9 9T WE 3feR —2 g, o 841 Ug Hl °H
A T | (2]

If the first term of an arithmetic progression is 9 and common

difference is -2, then find the value of 8th term.

az —4.'3'2 ac

WA-7 3R g:b: - d 81, o fag =ifsT e S =—. 3]
b —d° bd
fahe o a’ - ac
a:b: : c:d, then prove that w=b};
UWA-8  HHIEH A T H [3]
2x+y=8
x—-2y=—1

Solve the equations :

2x+y=8

T99-9 maﬂﬁmﬁﬁﬁﬁﬁ'?ﬁqmmﬁWﬁmﬁHW6mm
Bl & . B

Prove that the sum of three successive even integers is always a

multiple of 6.

UA-10 6 QHI. =AW a1 AW 1 e Framfer | (3]

Determine the volume of hemisphere having diameter 6 cm.

S-4A+
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U¥T-12

7]
U e 1 AETT 3080 59 Qi 3R S 20 I, %lémmam‘i'%
I TS

Volume of a cylinder is'3080 cm3

(4]

and its height 20 cm. Find the area
of the curved surface.

HYgar
OR

qﬁ%@rwm%eﬂwaﬁwﬁﬁ:zzm H?ﬂﬂésﬁq‘r T @
mﬁﬁwmﬂmﬁr@mmﬁ

If the circumference of base of a conjcal cup is 22 cm and height is

6 cm, th}en find the maximum cépacity of the cup.

ﬁmmmwmﬁﬁm:

=

0-10

10-20

20-30

30-40

40-50

50-60

60-70

arafw 4

8

14

20

30

15

- [4]

Find the mode of the following table :

Class-interval 0-10 10-20

Frequency 4 8

20-30 | 30-40 | 40-50 | 50-60 | 60-70

14 20 30 15 6

arerar
OR
=1 ARl 6t mfeaenr 3@ St

Ty 0-10 | 10-20 | 20-30 | 30-40 40-50 | 50-60

s g 30 40 9 7 6

Find the median of the following table :

Class-interval |- 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

Frequency 8 30 4 |9 7 6

S-4A+
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gvd-14

(8]

wwmmmmﬁmﬁﬂaﬁmg %ﬁm@,ﬁﬁ
(3. 0) 9§ B STdt & | [4]

Find the equation of straight line which passes through point (3, 0)

.5
and whose slope is 3

37erar /OR

I S T N H! WY § 37 g7 F g H greit § wefviq fra

J
(9%}
B
wn
(=
|

i@t Rt A (AR )| 0 !

Tt 1 qftaTy (&) 0 4 8 12 16 | 20 | 24 | 28

YRt & HHS! § 3erE F1=2Y |

The table below shows the lengths of one side of some squares and
their respective perimeters :

Length of side of
square (cm)

0 1 2 3 4 5 6 7

Perimeter of square

0 4 8 12 16 20 24 28
(cm)

Draw a graph between the figures given in the table.

feQ T A4S ABC #, DE||BC R A AB = (2x - 2) ¥V, AD = x A7,
AC=(2x+ )8, AE = (x + 2) ¥ §, T x =1 7H 3@ Ffrq) [4]

A

S-4A+
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[9]
In the given triangle ABC, DE||BC and 4B = (2x = 2) cm, AD =
xcm, AC = I(Zx + 1) em, AE = (x + 2) cm, then find the value of x.

OR

%ﬁﬁmﬁﬁr@ﬁﬁﬁﬁm@%ﬂﬂéw%@aﬁﬁmw

gt € |

Prove that the lengths of tangents drawn from an external point to a
circle are equal.

THT A G d = v F 3 & fAag 300 T wfie w5 o e
wm@wmvomﬁa;maﬁqé?ﬂﬁamﬁmﬁw%
T &t ? |

Puneet opens a recurring deposit account in a bank branch for two
years and deposits a monthly installment of Rs. 300. How much will
he get if the rate of interest is 4% per annum?

Sear
OR

fadta =d 2013-14 ¥ & =R SHEl ® Fa afts o
3,60,000 %. & | 387 20,000 %. e s vifad! =1 aiffe Wiy qan
4,000 &. wimre M= vfas iy & s fFan) ¥ smre 9 ToT
HITSTT |

(5]

S-4A+
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SR O % qd W ﬂﬁ'ﬂﬁﬁl@ﬁﬁﬁwmﬁmﬁ
wft =1 sifaeRan 1,00,000 <. mgaa%-

R i & FaR §
wHH o s T IMTFHT R
I 12,00000% 7 FE TIHT TET
2 [2,00,001 % & 5,00,000%. TF 10%
3 5,00,001 . & 10,00,000 %. T - 20%
feren Ut 3T ST F 3% B

~ The income of a government employee in the financial year 2013-14
was Rs. 3,60,000. He/she deposited Rs. 20,000 as premium on life
insurance policy and Rs. 4,000 every month in general provident

fund. Calculate the paya'ble tax.

Maximum of Rs. 1,00,000 of savings under general provident

fund and life insurance, etc. are exempted from tax.

The rates of tax are as follows -

S.N. Tax limit Rate of tax
1 | UptoRs. 2,00,000 Nil
2 |Rs. 2,00,001 to Rs. 5,00,000 10%
3 |Rs. 5,00,b01 to Rs. 10,00,00ﬁ 20%

3% of payable tax is education cess.

Wy-16 ﬁgaPQR%qﬁnﬁqaaﬁmﬁﬁm,mﬁQR 6 9., L0 =65°,

ZR =40°% | 79T % v o} fafagu 5]

Construct a circumcircle of APQR, in which OR=6cm, L0 =65,

£R =40°. Write the steps of construction also.

S-4A+
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- 3qr /OR

T s POR it T U |y & ww ok fas ABC F =
WWAB=§PQ%’TI

Construct a triangle PQR. Also construct a triangle 4BC in
which AB = %PQ. |

Pt 01 3 1 @ e oo 2 e, <1 29 % Fadia ot e

we-17
SFTE HIU FAW: 30° F 60° F 1 AfE A H F9E 60 W B, 99 wwH
¥ ot @t 5 T W (6]
The angles of depression from the peak of a hill to two houses
on opposite sides of the hill are 30° and 60° respectively. Find
the distance between the houses if the height ‘of the hill
1s 60 m.
HYgqr
OR
firetfefan weuim #) fag Ff -
1+ cosb 1—cosH
+ = 2cosech
1—-cos8 1+ cos@
Prove the following identity :
\/1+COSB + \jlacosﬁ = 2cosech
1—-cos@ 1+ cosH
S-4A+ P.T.O.
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yva-18 aa:mﬂaw_uﬂmwﬂﬁ@mﬁ%mﬁwm_lm%lﬁ@ﬁm

ISy | [6]

Find two consecutive even positive natural numbers, sum of Whose
squares 1s 164.

3edar

OR
afz frdt a0 & n, 20 A 3p TG&1 & ATHA HEAW: S|, S, AW

S, &, ™ fag =i fw
Sy =3(S, - §))

If the sums of n, 2n and 3» terms of an Arithmetic Progression are

S|, S, and S5 respectively, then prove that

S3=3(5,-5¢)




